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il % 2 % B ERk1T4E11H27TH 109,293 80,680 73.82
il £ ERk184E 4H16H 108,645 35,963 33.10
= i B N O ERK194E 45 8H 108,995 61,399 56.33
= ®H B % &= % B P9 4H 8H 108,995 61,337 56.28
Z i bt i B (2 2 X)) CERRLI9E TH29H 109,568 65,149 59.46
Z o bt B (B X)) ER9%E TH29H 109,568 65,149 59.46
Kbt B (/32 X)) ERk214 8H30H 109,072 79,563 72.95
Kbt B (e f R ER) ERk214 8A30H 109,072 79,552 72.94
il £ Epk214E11H15H 108,288 72,433 66.89
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Kbt B (W p R ER) A 3F10A31H 104,885 63,083 60.14
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Z i btk B (3 % X ) 4Sf 449 THI0H 104,487 53,752 51.44
Z @btk B (W f X ) AF 449 TH10H 104,487 53,750 51.44
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